Y2 — Autumn — Block 1 — Step 7 — Flexibly partition numbers to 100 Answers

Question Answer

a) 34 can be partitioned into 30 and 4
1 b) 34 can be partitioned into 20 and 14
c) 34 can be partitioned into 10 and 24
a) 56 can be partitioned into 40 and 16
b) 56 can be partitioned into 30 and 26
c) 56 can be partitioned into 20 and 36
2 possible answers:
50and 6
10 and 46
six possible ways:
6 tens, 2 ones
5tens, 12 ones
3 4 tens, 22 ones
3 tens, 32 ones
2 tens, 42 ones
1ten, 52
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Assuming that Jo does not partition the ones, 51 is the only possible answer.
5 If Jo partitions the ones as well, she could have also made 42, 33 and 24
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